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Solve each inequality and represent
the solution on a real line.
x—6<-2

x—6<-2
x<-2+6
x<4
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Shade the solution region for the
following linear inequalities in xy-
plane:

2x+y<6
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2x+y<6

Associated form
2x+y=6___ (1)
Intercepted form

2x+y=6

Dividing whole equation by 6
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Test point

(x,¥)=(0,0) in____ (i)
2x+y<6

2(0)+0=6

0<6
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It is true so toward the origin
3x+7y=21

Ix+7y=21
Associated form
3x+7y=21
Intercepted form
3x+7y=21
Dividing by 21
3 Ty _21
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x into (7,0)

y into (0,3)

Test point

Put (x,y)=(0,0)

3(0)+7(O) >21

0=>21

False

It is false so away from origin
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3x-2y>6

3x-2y>26___ (1)
Associated form
3x-2y>6
Dividing by 6

3x 2y 6
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x int (2,0)

y int (0,3)

Test point

Put (x,7)=(0,0)
3(0)-2(0)=6
0=6

False

It is false so away form the origin

-

.
4
7,
45\ ¥
2{0
X - (2{0) X
‘V
D, +3)]
7
|
Y
yl

Sx-4y<20

5x—4y>20 (1)
Associated form
Sx-4y>20
Dividing by 20
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x int (4,0)

y int (0,-5)
Test point

Put (x,y)=(0,0)
3(0)-2(0)=2
0>2

False
It is false so away form the origin
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2x+1=>20

2x+1=20__ (1)
Associated form
2x+1=0
2x=-1
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Test point x=0
2x+1>20
2(0)+1=0
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True
Towards origin
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3y—4<0

3y—-4<0__ (1)
Associated form
3y—-4=0

3y=4
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Test point y =0
3(0)-4<0
—4<

True

Towards origin
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shading.
2x-3y<6
2x+3y<12

2x-3y=6__ (i)
Dividing by 6
2x 3y _6

36 6 6
g

3 2

x int (3,0)

y int (0,-2)
Test point
(x.)=(0.0)
2(0)-3(0)<6
0<6

True

It 1s true towards

inequalities by

2x+3y=12 _ (ii)
Dividing by 12
2x i 3y_12
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x int (6,0)

y int (0,4)
Test point
(x.7)=(0.0)
2(0)+3(0)<12
0<12
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It is true towards

origin origin
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xX+y=5 -y+x<1
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xX+y=35 (1) -y+x<1 (11)
Dividing by 5 x-y<lI
£+X=1 x int (1,0)
o
int (0,-1
x int (5.0) Ve 0 )
Test point
y int (0,5)
—0+0<1
Test point
True

(x.7)=(0,0)
0+0=5
0=5

False

Away from origin

Towards origin

A
: V.| +K (‘:‘—_
1.“ .;'“ |
=N - . - " J
, . | G0y
x 0L/ 010) X
| /0 -1) |
| | ‘
i 1 |
l ! k !
B O 2 |
EEASE SR 1
-""
3Ix+7y=21
xX-y<2
Ix+Ty=221 x=yp<2



(iv)

Ans:

Associated form

3x+7y=21 (1)
Dividing by 21
LA
21 21 21
£+ X -— 1
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x int (7,0)
y int (0,3)
Test point
Put (x,y)=(0,0)
3(0)+7(0)=21
0>21
False
Away from origin
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x-y<2__ (u)
Dividing by 2
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x int (2,0)

y int (0,—2)
Test point

Put (x,y)=(0,0)
0-0<2

0<2

True
Towards origin
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Associated form
4x-3y=12
axis

Dividing by 12

x int (3,0)

y int (O,—4)
Test point
P(x.)=(0.0)
4(0)-3(0)<12
0<12

True
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Associated equation is

3Ix+7y=21




For x intercept
Put y=0
3x=21
x=17
1" ordered pair is (7,0)
For y-intercept, put x=0
Ty=21
y=3
2" ordered pair is (0,3)
Origin test, put x=y=0 In
3x+7y>21
3(0)+7(0)>21
0> 21(False)
So shading region away from origin side
Now
v<4
y=4
S point is (0,4)
y=0=0<4 (true)

Shading lies towards origin side
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Sx+7y<35
x=2y<2

Sx+7y<35
Associated form

x—2y<2

S5x+7y=35 1) | x-2y=2 (i1)
Dividing by 35 Dividing by 2
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x int (7,0) x int (2,0)
y int (0,5) y int (0,~1)
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(x.»)=(0,0) 0<2
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